Efficiency vs P,

- 0.2 T T
2 : : :
L 0.18F -t R SRRERRRLREEE

> r . . .
S 0.16f--------meieeeeeeee preenmeneees ARREEEE R
9] F : : :
o o . . .
E014__' """""" " """""" """"""
0] C . -
0.12F---rrrreirrrmeeenes [ARRREERERRS AR
%) S NR— — -
0.08F -+ P Beeeeeeees e

0.0BF -+ rseeierennenens e e
0.04f
0.02f

".

107 1 10 prT (Ge\})o3

—s=— DQM_V0001_R000000001__Global__mkFitOLD__RECO

—— DQM_V0001_R000000001__Global__mkFitNEW__RECO

Efficiency vs ¢

£0.05
0
2.045
2
$0.04
(5]
$.035
(9]

Fi
4

TITI I T

o LARRN RRRRNRE =,

||'-|||

TP @



	Contents
	Page 1


